AP Statistics Ch 5 - Required Practice Name: 5°l etion Per:

A student studying the sleeping habits of seniors at his.school asked 34 randomly-selected
seniors how many hours of sieep t%wy got the previous night. The data, rounded to the nearest
half-hour, is given in the tzble below.
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#1. Find the mean, standard deviation, and 5-number summary for these data.
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#2. Determine if there are any outliers (calculate both the lower and upper fences to show work).
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#3. Suppose 4 more values were added to the data, each exactly equal to the mean. :
Would this have any impact on standard deviation? Explain, without using any calculations.
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#4. Create a set of five positive numbers (repeats allowed) that have a median of 10 and mean of 7.
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Tempe and Alex wanted to know if the number of words students could recall from a list they
studied was influenced by the kind of music they were listening to. They asked students to study
a list of words for a fixed amount of time while listening to either classical music or rap. Then
they counted how many words each student could recall from the list. Forty different students
listened to each type of music. The results are shown in the boxplots below,
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#5. Approximafe the interquaftile range for each set of data. Why is this the appropriate measure
of spread to use for these two data sets?
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#6. Write two or three sentences comparing the word-recall performances of students listening to
each type of music.
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Chapter S Practice Quiz

a. Sketch a‘histogram for these data.
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8. Would you expect the me
 higher or lower than the

Based o the five-number summary, & iy of the midferm scores outliers? Explain.
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